K =k

6> — 11x%2 — 427x+ 360 = 0

8x° + 63x% +31x— 126 =0

X —T7¢ —18x=0

X+ 8 —64x—512=0

X =87 —9%+72=0

H #A:

X — 14x> +31x+ 126 = 0

300 — 4x* — 192x+ 256 = 0

7 — 6> — 112x+ 96 = 0

X+ 16X +79x+ 120=0

8x° — 79x% +207x— 126 = 0
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K =k

W44

6x° — 11x% — 427x+ 360 = 0

x:

, 8,9

N

8¢ + 63x% +31x— 126 =0
9

—,—1,=2
8

x:

X —T7¢ —18x=0
x=9,-2,0

X+ 8 —64x—512=0
x=-8,8,—8

X =87 —9%+72=0
x=-3,3,8

H #A:

X — 14x> +31x+ 126 = 0
x=7.-2,9

30 — 4x* — 192x+ 256 = 0
4
~,-8,8
3

x:

7Y — 6 —112x+96 =0

,4,—4

x:

e

X+ 16X +79x+ 120=0
x=-5,-3,-8

8x° — 79x% +207x— 126 = 0
7
~.3,6
8

x:
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